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2. Attempt any 3 Pulsory. Max. Marks 80

4. Statistical tables are allowegy
ed.

Que. 1 a ! Aisan cige, value of Nonsingy|

€igen value of 4 X A then prove that 7 SN )

: s «, 3, 4 such that 5
=4), find the probability distribution

orthogo
spanned by the vectors ¥, =

Vs =(7,-6, 2)
d Evaluate the lex li
complex line Integral flogzdz where C is the unit circle 5
=1 "
Que.2. a

Using Rayleigh-Ritz method, solve the boundary value problem

s 1 12 p
L= [ (% =¥ = 2xp)dx: 0<3 Nedhen ¥(0)=0 and y(1)=0

b Seven dice are thrown 729 times.

_ How many times do you expect at least 6
4 dice to show 3 or 52

z
Find all Taylor and Ladrent series expansions for 7(z) =
c y [ p /(2) G 3G-4) 8

about z=1 indicating theregion of convergence.

Q‘uc.3. a Three factories A, B, and C produces 30%, 20% and 50% of the total
Jiie production of‘an item. Out of their production 70%, 50%,and 30% 6
e are defective. Find probability that a defective item selected is

1 & produced by factory A

r.:I-"i.

aame - T 5

3
b (" Verify Cayley-Hamilton theorem for A= |0 2 0 | and hence find
. S )

-lrl @ & 2
‘”*At:% =
A
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r Q.‘P., r"‘;‘d&
: § /1 ; e ‘_v . : , \ ‘s
¢ Obtain the equanon_s;é;ﬂ;;h‘:}is?gf regression tor the i) Wing dis R / )
in the estimate 0 " Y={0, _ ™
n}t;tam thg.;:s im . £7 67 68 69 70 y 'r_
AR R R giiasl ) 72 72 69 .
.
Qued. 2  pind the extremal of the functional f;/ (' = Y2 + 229) dy With
y(0)=0 and y(g)'—*ﬂ. , l:
b Construct an orthonormal basis of &' using Gram Schi h%, _'
$={(3,0,4),(-1,0,7), (2.9, 11)} ﬂ‘% 5 1y ;

T =
€ Determine whether the matrix 4 =4 =3 -2 is digﬂf;limble 0

3 —di ] ® ;
yes diagonalise it.
) _

~ Que.5 a Show that the matrix A= | ! 2
o

Rs e minimal polynomial of the matrix.

; | ensity function :2_"_ a=1, 2,3
-~ Find moment generating

s v %ﬂ&unq&x 60 inches height and 40% are between
ation,

1ng a normal distribution find the mean height

L

ht |
e

L=



